
1. NOTE: Livernois Motorsports & Engineering recom­
mends allowing sufficient time for a complete engine 
cool down before performing this installation. 

4. Notice how the OEM filter is installed in the air box . 
Remove the factory air filter and examine the mouming 
tube inside the air box. 

7. Install The Windstorm Premium Filter (#1) and clamp 
into the air box as shown, with the Arrow pointing 
Down and the Lugs in the correct position. When 
properly installed, the Filter top will be completely in­
side of the airbox lower ha! f. 

Installation Instructions 
For Part Number: 

LPP451-181 

2013-14 Ford Focus 2.0L 

2013-14 Ford Focus ST 2.0T 

 Identification 

I. Windstorm Premium Dry Filter 
2. Right Panel 
3. Left Panel 
4. Weather Strip 23in 
5. #6-32 x 5/16 PH Screw 
6. #6-32 Kep Nut 
7. #6 Flat Washer 
8. #I 0 Plastic Screw 

NOTE: These instructions depict an installation being 
performed on a Focus ST and is meant to be a guide for all 
models listed. While some details may vary , the general 
install procedure remains the same. 

Please read these installation instructions in their 
entirety before beginning the install process. 

2. Locate battery cover .�nd remove it. Disconnect the 
Negative terminal. 

5. Notice that the Winds:.onn Filter is designed to mate 
perfectly with the featurf5 on the air box mounting tube 

8. Rotate the Filter forwords and backwards a few de­
grees to ensure it has pm ttively engaged the mounting 
tube. Do not cighten the damp at this time. 

3. Remove the four airbox screws and the airbox lid. 

6. Notice that the Windstorm Filter top has a directional 
arrow in the center and locacing lugs in the 12:00 and 
6:00 positions. 

9. Create the Panel assembly as shown using the Right 
and Left panels (#2&3) and the set of 6-32 Screws. Nuts. 
and washers (#'s 5. 6 & 7). 

http://www.carid.com/livernois-motorsports/
http://www.carid.com/air-intakes.html


10. Note: When properly installed the Tab of the Left 
Panel is behind the Right Panel. 

13. Secure the panel assembly to the airbox using the 
four # I 0 Plastic Screws (#8). Hint: A magnetic tipped 
#2 Phillips head screwdriver works best. Tighten the Air 
Filter clamp at this time. 

11. Set th< P.mel assembly mto the factory air box. 

14. Install the Weather S;rip (#4) onto the Panel assem­
bly with the contour rollin:J away from the Air Filter. 

12. When properly installed, the panel will reside in­
side the groove in the air box and both sets of locating 
lugs will positively engage the holes in the Panel. 

15. Re connect the battery terminal and reinstall the 
cover. 
Double check your work! 
Make sure there is no foreign material in the intake 
path. Make sure all clamps, hoses, bolts, and screws 
are tight. Double check the hood clearance! 


